بسم الله الرحمن الرحيم
DEPARTMENT OF CIVIL ENGINEERING
STRUCTURAL MECHANICS I  

CE 203-022
QUIZ NO. 1
Basic Types of Stresses                                                                                                        Sunday, March 16, 2003


1. Compare studying rigid body mechanics and deformable body mechanics in the following list:

· Common issues:
· Main difference:

2. If a load w causes tension in the rod BC to be 250 N determine: 

· Shear stress  in pin at B if diameter of pin is 10 mm.

· Bearing stress b at B if thickness of web plate at B is 5 mm.
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3. A bar with diameter of o = 4 cm is subjected to a tensile load of 100kN. Compute:

· The axial strain a,and the lateral strain l if Poisson's ratio  and Young's modulus E=200 GPa.
· Determine the new diameter of the bar under load f = (1+ l) o= 

�
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